FAEMKR/NFERE LHBREER (EEXSKRTHE)
$18 . FR254TATA (B)

285/ BEESE LHRES

HKSC RESULT

(BC#HELHE =k BCH =% HIDRHE=¢)

XigHEh

4 4 EAER
F£| #%EH K% Fofx | IBE| RRE [IE[ AE ‘1@%; £| #&H K4 GOk [JE| RES |IB| AS — {ﬁ"é%
- . . EEE - -~ . " EEE
4({80m B EEE 12740| 1 [12714) 2| 2 [y 4180m (B BX 12788| 1| 12755| 4| 4 R 3f
4[80m =k a3 2799] 3 * 4]s8o0m_ [E¥ KM 3740] 1 * FER 104
4]180m Fk 3732] 2 4180m [/l &< [13778] 3 *
4]180m 2 =i 3736] 1 4180m [¥H YH 4716] 3
4[80m B THK 3737] 2 * 4[80m |[MF = 4734] 5
4]180m EITIERS 3769 2 4180m [F# &Hnhia|14783] 3
4]80m A K 14720] 5 * 4[s8o0m [#WH EE [14793[ 4
418 0m B Bt 14771 8 4]180m [AHF ZHE 15706] 6 <
4]80m N BE 14779 7 4]/s8om [HER Hx [15754] 7 *
418 0m IEE R 14798] 7 4180m [HNI ET 15783 7
4[80m ZMH_ shE 15754] 6 4
5 F4EAER
F£| #%@H K% Fofx |IE| REE [IE[ AE S £| &H K4 Foex |IE| GRES | IB| AS &=
5/100m [KE X 5722] 1 5l100m[detk = 5779] 2 *
5/100m [#ix XT 5742] 2 5l1o00m |HE F= 5”88| 3
5]/100m k¥ X 5762 1 5l100m|=ZA ¥ 6”"11] 3
5|/100m |HE F0E 6721] 4 5l100mllde BE 6766] 3
5[100m [EE EX 6725] 4 511 00m [#HKz ¥ 6774] 7
5[100m [& X ER 6759] 4 5[1oo0m[/NE =3 7739] 6
5[1o0om [EH &b 7714] 5 5
b]100m [IUF &t DNS 5
5[800m [NHE fifE [2 49793 3 8 5
5[800m [#HE i 3700720] 9 5
6 FEEAER _____
] @H K% ek |IE| R [IE] AE | (BE G| @H K% ok B REE [[E|AE] BE
6l/100m |K& EE 3795] 1 DNS 6 [100m[ILX HE 4786 DNS
6l1oom [BE® A 4733] 2 DNS 6 [100m[Jllim EBE 5712 DNS
6[100m [Bf E#H 4746 DNS 6[100m[/ME I3 5757
6|/100m [EH HIF 4747 DNS 61100m[&JII BAHZE | 16735] 4
6/100m |8k IhiE 5787] 2 6
6[1o0m |&F =E 5792] 5 6
6100m |MAHF RAERR 6700] 5 6
6/100m |# EXE 6710] 6 6
6|100m [F#E —th 6730[ 4 <* 6
6[1o0om [FE EBE 8”11] 6 6
6[800m [&TF FksR |2 50786] 10 6
6 |800m |=18 ,8ABR|3 0379415 6
5 - 6¢E§¥:E1EA?EE
F£| @H ioex | B | GREE|IE| AS S £| &H K4 ok | IE | sRES H &%
5180mH [# %x/i“ 16712[ 1 6 5
Vg *BFE e
5 |VIME V% |FE#E [&Ek 48m51| 2 2 e 5 BEEERIZEY
FEA 1 ot !
5 [t -ME (B8 HiE 31m40[ 12 ®FERSGL | [6 EEXREHISTHER
5 [FEMEBk JIH —#% 3m4b 5
F£| #%EH K& ek [IB[ RES [IE] AE 5= £| #&H K4 SCoE | B | 5
6[80mH [EEA & 14778] 2 3 |k FERASL 6 [ 80mH|EE It 14739
6 [ZEiEBk dH #X 3m99| 3 3 6 [8OmHIEINI 7#f [ 15711
6 | N Bk RO R&E NM 6 [FEiEsk [BER KR 3m64
6 [E= Bk BRAT 4 1m30| 2 2 % 6 [EiEpk [¥E = 3m29] 15
6 [FE= Bk He B 1mi5] 6 6 6 [FEiEsk [BEEH F<4[ 3m27]16
AEH) L—
F—L% K£ ek || RRE | IE| AS e F—L% K£ ook [IE | RES [IE| AE S
_j_ ETKI EE SER _j_ I‘J;!E 1%;3 SER
| 2 ” ” 5 =) = B ” ” g g
i 4 A SE Tk 62739 [ 1/63734| 5| 5 Efsts | [1] 4 A TR S 63731| 164774 5| 5 R
4 B =i [ ST
EEEE ” =3 ) ”
i 4B TR 67786 | 3 . 1 4B A A= 69749( 7 *
4 IBH [FifE [ wH =5
5 6FEAHEY L—
FE|F—L%A K% ioex |IE| RES |IB| AE S F|F—LA K4 FoE% | IE | REE | IE|AS &=
JIA — ” ” BEFHE HE = ” B25E
5] SA km mA | 0 | T8 8 |TEkswm| 5] SA [me _ms= 1%0%|2 FE {£34
5 KE_ HA 5 ZH ¥
| 5 | &HH EARR | 5 |
5 HER FE " 5
5 5B fm 5 61738 | 3 . 5]
5 iz XH 5
FE|F—LEA K% ioex |IE| GRES |IB| AE S F|F—LA K% FoE% | IE | REE | IE|AS &=
A ca ot *EEE | o] = *EE
ISEES " ” 25E & 5 " " 25E
| 6 | A o8 et 53708 | 1153744] 2 2 FEASAL [ [ 6| A “|§ﬁ;ﬁ iuﬁ'& 55742 1195 ]OL/L FEERIL
6 E& Aff 6 ] BE &
% mi Efejf“ % H T%h LEXSHIERE
A I&T " BEAN Eh ”
6 B O EA 59727 | 3 . 6 B - 60792 3 *
6 FF RiE 6 YA
] e i
6 S &t ”
6 c O EE 58780 | 3 . 5]
6 FE EE 6




